GENESEE STREET PAVING - BLUEFIELD ROAD TO NORTH/SOUTH STREET PIN 3756.01, LD034689 CITY OF AUBURN, NEW YORK

LETTING DATE: December 5, 2017 F. RIZZO CONSTRUCTION, INC. \$4,148,679.00 SEALAND CONTRACTORS CORP. \$4,180,000.10 BID REF# В None VILLAGER CONSTRUCTION INC. \$4,438,879.00 CITY AUBURN, NY NO. OF BIDS 6 BARRETT PAVING MATERIALS, INC. \$4,856,346.32 D PAUL F. VITALE, INC. \$5,190,013.60

LOW BIDDER

NARDOZZI PAVING & CONSTRUCTION LLC

\$5,478,700.75

ITEM NO.	DESCRIPTION	UNIT	QTY	F. RI	_	SEAI CONTRACT		VILL/ CONSTRU	_		T PAVING ALS, INC.	PAUL F. VI	ALE, INC.	NARDOZZI CONSTRUC	
	DESSAU NO.	0		PRICE	EXT.	PRICE	EXT.	PRICE	EXT.	PRICE	EXT.	PRICE	EXT.	PRICE	EXT.
203.02	UNCLASSIFIED EXCAVATION AND DISPOSAL	CY	2700	\$41.90	\$113,130.00	\$59.00	\$159,300.00	\$95.00	\$256,500.00	\$88.00	\$237,600.00	\$28.00	\$75,600.00	\$28.00	\$75,600.00
203.03	EMBANKMENT IN PLACE	CY	15	\$50.00	\$750.00	\$45.00	\$675.00	\$34.00	\$510.00	\$40.00	\$600.00	\$73.00	\$1,095.00	\$150.00	\$2,250.00
203.07	SELECT GRANULAR FILL	CY	360	\$31.00	\$11,160.00	\$38.00	\$13,680.00	\$26.00	\$9,360.00	\$50.00	\$18,000.00	\$75.00	\$27,000.00	\$40.00	\$14,400.00
204.01	CONTROLLED LOW STRENGTH MATERIAL (CLSM)	CY	16	\$125.00	\$2,000.00	\$350.00	\$5,600.00	\$225.00	\$3,600.00	\$502.00	\$8,032.00	\$700.00	\$11,200.00	\$185.00	\$2,960.00
206.0201	TRENCH AND CULVERT EXCAVATION	CY	690	\$51.50	\$35,535.00	\$27.00	\$18,630.00	\$67.50	\$46,575.00	\$70.00	\$48,300.00	\$55.00	\$37,950.00	\$65.00	\$44,850.00
206.03	CONDUIT EXCAVATION AND BACKFILL INCLUDING SURFACE RESTORATION	LF	740	\$28.00	\$20,720.00	\$23.70	\$17,538.00	\$28.00	\$20,720.00	\$22.75	\$16,835.00	\$22.00	\$16,280.00	\$31.00	\$22,940.00
206.05	TEST PIT EXCAVATION	EACH	30	\$740.00	\$22,200.00	\$400.00	\$12,000.00	\$821.00	\$24,630.00	\$900.00	\$27,000.00	\$1,000.00	\$30,000.00	\$650.00	\$19,500.00
207.21	GEOTEXILE SEPARATION	SY	2070	\$1.00	\$2,070.00	\$1.00	\$2,070.00	\$0.70	\$1,449.00	\$0.65	\$1,345.50	\$1.50	\$3,105.00	\$2.50	\$5,175.00
209.22	CONSTRUCTION ENTRANCE	SY	200	\$10.00	\$2,000.00	\$27.00	\$5,400.00	\$16.00	\$3,200.00	\$13.40	\$2,680.00	\$11.00	\$2,200.00	\$68.00	\$13,600.00
304.12	SUBBASE COURSE, TYPE 2	CY	1650	\$58.00	\$95,700.00	\$68.00	\$112,200.00	\$120.00	\$198,000.00	\$100.00	\$165,000.00	\$90.00	\$148,500.00	\$38.00	\$62,700.00
402.000013	PLANT PRODUCTION QUALITY ADJUSTMENT TO HMA ITEMS	QU	382	\$70.00	\$26,740.00	\$70.00	\$26,740.00	\$70.00	\$26,740.00	\$70.00	\$26,740.00	\$70.00	\$26,740.00	\$70.00	\$26,740.00
402.000023	PAVEMENT DENSITY QUALITY ADJUSTMENT TO HMA ITEMS	QU	382	\$70.00	\$26,740.00	\$70.00	\$26,740.00	\$70.00	\$26,740.00	\$70.00	\$26,740.00	\$70.00	\$26,740.00	\$70.00	\$26,740.00
402.000053	TEST SECTION ADJUSTMENT TO HMA ITEMS	QU	200	\$70.00	\$14,000.00	\$70.00	\$14,000.00	\$70.00	\$14,000.00	\$70.00	\$14,000.00	\$70.00	\$14,000.00	\$70.00	\$14,000.00
402.096203	9.5 F2 TOP COURSE HMA, 60 SERIES COMPACTION	TON	5180	\$94.75	\$490,805.00	\$83.00	\$429,940.00	\$76.00	\$393,680.00	\$93.00	\$481,740.00	\$80.00	\$414,400.00	\$105.00	\$543,900.00
402.196903	19 F9 BINDER COURSE HMA, 60 SERIES COMPACTION	TON	2470	\$79.00	\$195,130.00	\$77.00	\$190,190.00	\$59.00	\$145,730.00	\$91.00	\$224,770.00	\$72.00	\$177,840.00	\$100.00	\$247,000.00
402.198903	19 F9 BINDER COURSE HMA, 80 SERIES COMPACTION	TON	160	\$102.00	\$16,320.00	\$225.00	\$36,000.00	\$190.00	\$30,400.00	\$141.00	\$22,560.00	\$154.00	\$24,640.00	\$100.00	\$16,000.00
402.258903	25 F9 BINDER COURSE HMA, 80 SERIES COMPACTION	TON	460	\$101.00	\$46,460.00	\$175.00	\$80,500.00	\$155.00	\$71,300.00	\$126.00	\$57,960.00	\$140.00	\$64,400.00	\$98.00	\$45,080.00
407.0102	DILUTED TACK COAT	GAL	4140	\$6.80	\$28,152.00	\$8.50	\$35,190.00	\$7.00	\$28,980.00	\$1.50	\$6,210.00	\$5.00	\$20,700.00	\$7.00	\$28,980.00
418.7603	ASPHALT PAVEMENT JOINT ADHESIVE	LF	44130	\$0.60	\$26,478.00	\$0.62	\$27,360.60	\$0.40	\$17,652.00	\$0.70	\$30,891.00	\$1.00	\$44,130.00	\$0.50	\$22,065.00
490.10	PRODUCTION COLD MILLING OF BITUMINOUS CONCRETE	SY	54030	\$3.30	\$178,299.00	\$2.45	\$132,373.50	\$0.67	\$36,200.10	\$1.80	\$97,254.00	\$3.30	\$178,299.00	\$3.00	\$162,090.00
490.30	MISCELLANEOUS COLD MILLING OF BITUMINOUS CONCRETE	SY	9360	\$9.30	\$87,048.00	\$5.35	\$50,076.00	\$7.00	\$65,520.00	\$8.50	\$79,560.00	\$12.00	\$112,320.00	\$8.00	\$74,880.00
503.01030010	CEMENT CONCRETE FOUNDATION FOR PAVEMENT, UNREINFORCED, CLASS C (SPECIAL AREAS)	CY	30	\$240.00	\$7,200.00	\$275.00	\$8,250.00	\$210.00	\$6,300.00	\$280.00	\$8,400.00	\$370.00	\$11,100.00	\$650.00	\$19,500.00
552.17	SHIELDS AND SHORING	SF	6500	\$0.10	\$650.00	\$0.10	\$650.00	\$0.50	\$3,250.00	\$0.10	\$650.00	\$2.50	\$16,250.00	\$1.00	\$6,500.00

ITEM NO.	DESCRIPTION	UNIT	QTY	F. RIZ CONSTRUC	-	SEAL CONTRACT		VILL. CONSTRU	AGER CTION INC.		T PAVING ALS, INC.	PAUL F. VIT	ALE, INC.	NARDOZZI CONSTRUC	
TILM NO.	DESSAIL HON	O.W.	۷.,	PRICE	EXT.	PRICE	EXT.	PRICE	EXT.	PRICE	EXT.	PRICE	EXT.	PRICE	EXT.
601.04010024	AGGREGATE REINFORCED THERMOPLASTIC PAVEMENT SURFACE TREATMENT	SY	300	\$174.00	\$52,200.00	\$168.00	\$50,400.00	\$175.00	\$52,500.00	\$195.20	\$58,560.00	\$250.00	\$75,000.00	\$300.00	\$90,000.00
603.171116	GALVANIZED STEEL END SECTIONS-PIPE (2-2/3" X 1/2" CORRUGATIONS) 15 INCH DIAMETER, 16 GAUGE	EACH	1	\$110.00	\$110.00	\$400.00	\$400.00	\$105.00	\$105.00	\$98.00	\$98.00	\$540.00	\$540.00	\$350.00	\$350.00
603.77	CONCRETE COLLARS	EACH	20	\$520.00	\$10,400.00	\$1,400.00	\$28,000.00	\$530.00	\$10,600.00	\$500.00	\$10,000.00	\$1,000.00	\$20,000.00	\$1,500.00	\$30,000.00
603.98100604	POLYVINYL CHLORIDE (PVC) SEWER PIPE & FITTINGS 6" DIAMETER	LF	25	\$120.00	\$3,000.00	\$90.00	\$2,250.00	\$7.00	\$175.00	\$75.00	\$1,875.00	\$230.00	\$5,750.00	\$500.00	\$12,500.00
603.98100804	POLYVINYL CHLORIDE (PVC) SEWER PIPE & FITTINGS 8" DIAMETER	LF	155	\$60.00	\$9,300.00	\$95.00	\$14,725.00	\$98.00	\$15,190.00	\$80.00	\$12,400.00	\$114.00	\$17,670.00	\$125.00	\$19,375.00
603.98101004	POLYVINYL CHLORIDE (PVC) SEWER PIPE & FITTINGS 10" DIAMETER	LF	10	\$160.00	\$1,600.00	\$200.00	\$2,000.00	\$265.00	\$2,650.00	\$85.00	\$850.00	\$630.00	\$6,300.00	\$500.00	\$5,000.00
603.9812	SMOOTH INTERIOR CORRUGATED POLYETHYLENE CULVERT AND STORM DRAIN 12 INCH DIAMETER	LF	88	\$102.00	\$8,976.00	\$85.00	\$7,480.00	\$40.00	\$3,520.00	\$41.00	\$3,608.00	\$72.00	\$6,336.00	\$100.00	\$8,800.00
603.9815	SMOOTH INTERIOR CORRUGATED POLYETHYLENE CULVERT AND STORM DRAIN 15 INCH DIAMETER	LF	38	\$107.00	\$4,066.00	\$90.00	\$3,420.00	\$9.00	\$342.00	\$14.00	\$532.00	\$89.00	\$3,382.00	\$175.00	\$6,650.00
603.9818	SMOOTH INTERIOR CORRUGATED POLYETHYLENE CULVERT AND STORM DRAIN 18 INCH DIAMETER	LF	15	\$112.00	\$1,680.00	\$100.00	\$1,500.00	\$17.00	\$255.00	\$35.00	\$525.00	\$123.00	\$1,845.00	\$200.00	\$3,000.00
603.99050002	CONCRETE PLUGS FOR SEWER PIPE	EA	11	\$250.00	\$2,750.00	\$650.00	\$7,150.00	\$355.00	\$3,905.00	\$700.00	\$7,700.00	\$500.00	\$5,500.00	\$650.00	\$7,150.00
604.070301	ALTERING DRAINAGE STRUCTURES, LEACHING BASINS AND MANHOLES	EA	87	\$550.00	\$47,850.00	\$920.00	\$80,040.00	\$1,200.00	\$104,400.00	\$1,190.00	\$103,530.00	\$2,000.00	\$174,000.00	\$1,000.00	\$87,000.00
604.070302	ALTERING DRAINAGE STRUCTURES, LEACHING BASINS AND MANHOLES	EA	17	\$520.00	\$8,840.00	\$1,250.00	\$21,250.00	\$1,950.00	\$33,150.00	\$1,550.00	\$26,350.00	\$2,100.00	\$35,700.00	\$1,000.00	\$17,000.00
604.070303	ALTERING DRAINAGE STRUCTURES, LEACHING BASINS AND MANHOLES	EA	8	\$520.00	\$4,160.00	\$950.00	\$7,600.00	\$965.00	\$7,720.00	\$2,050.00	\$16,400.00	\$2,100.00	\$16,800.00	\$1,000.00	\$8,000.00
604.070304	ALTERING DRAINAGE STRUCTURES, LEACHING BASINS AND MANHOLES	EA	59	\$700.00	\$41,300.00	\$1,025.00	\$60,475.00	\$1,230.00	\$72,570.00	\$1,540.00	\$90,860.00	\$1,950.00	\$115,050.00	\$1,000.00	\$59,000.00
604.070305	ALTERING DRAINAGE STRUCTURES, LEACHING BASINS AND MANHOLES	EA	54	\$520.00	\$28,080.00	\$1,025.00	\$55,350.00	\$1,230.00	\$66,420.00	\$1,500.00	\$81,000.00	\$1,900.00	\$102,600.00	\$1,000.00	\$54,000.00
604.070306	ALTERING DRAINAGE STRUCTURES, LEACHING BASINS AND MANHOLES	EA	67	\$505.00	\$33,835.00	\$800.00	\$53,600.00	\$1,200.00	\$80,400.00	\$1,050.00	\$70,350.00	\$1,800.00	\$120,600.00	\$1,000.00	\$67,000.00
604.070307	ALTERING DRAINAGE STRUCTURES, LEACHING BASINS AND MANHOLES	EA	17	\$510.00	\$8,670.00	\$800.00	\$13,600.00	\$1,200.00	\$20,400.00	\$1,050.00	\$17,850.00	\$1,700.00	\$28,900.00	\$1,000.00	\$17,000.00
604.070308	ALTERING DRAINAGE STRUCTURES, LEACHING BASINS AND MANHOLES	EA	3	\$830.00	\$2,490.00	\$1,500.00	\$4,500.00	\$2,200.00	\$6,600.00	\$1,200.00	\$3,600.00	\$4,000.00	\$12,000.00	\$1,000.00	\$3,000.00
604.301772	RECTANGULAR DRAINAGE STRUCTURE TYPE Q FOR CAST IRON F2 FRAME	LF	60	\$330.00	\$19,800.00	\$380.00	\$22,800.00	\$472.00	\$28,320.00	\$600.00	\$36,000.00	\$500.00	\$30,000.00	\$450.00	\$27,000.00
604.301990	RECTANGULAR DRAINAGE STRUCTURE TYPE S FOR PARALLEL BAR #10 PCB FRAME	LF	10	\$410.00	\$4,100.00	\$500.00	\$5,000.00	\$625.00	\$6,250.00	\$800.00	\$8,000.00	\$600.00	\$6,000.00	\$850.00	\$8,500.00
605.0901	UNDERDRAIN FILTER TYPE 1	CY	100	\$38.00	\$3,800.00	\$47.00	\$4,700.00	\$32.00	\$3,200.00	\$200.00	\$20,000.00	\$100.00	\$10,000.00	\$75.00	\$7,500.00
605.1701	OPTIONAL UNDERDRAIN PIPE, 4 INCH DIAMETER	LF	1600	\$6.00	\$9,600.00	\$7.00	\$11,200.00	\$7.00	\$11,200.00	\$23.00	\$36,800.00	\$19.00	\$30,400.00	\$12.00	\$19,200.00
606.120201	BOX BEAM GUIDE RAIL END ASSEMBLY, TYPE IIA	EA	2	\$2,400.00	\$4,800.00	\$2,030.00	\$4,060.00	\$2,100.00	\$4,200.00	\$1,953.23	\$3,906.46	\$2,320.00	\$4,640.00	\$2,400.00	\$4,800.00
606.73	REMOVING AND DISPOSING BOX BEAM GUIDE RAILING	LF	88	\$6.00	\$528.00	\$6.00	\$528.00	\$22.00	\$1,936.00	\$5.00	\$440.00	\$5.00	\$440.00	\$12.00	\$1,056.00
606.7920	REMOVING AND DISPOSING BOX BEAM GUIDE RAILING END ASSEMBLY	EA	2	\$250.00	\$500.00	\$100.00	\$200.00	\$440.00	\$880.00	\$75.00	\$150.00	\$210.00	\$420.00	\$150.00	\$300.00
608.000013	PLANT PRODUCTION QUALITY ADJUSTMENT TO HMA SIDEWALK ITEMS	QU	1	\$70.00	\$70.00	\$70.00	\$70.00	\$70.00	\$70.00	\$70.00	\$70.00	\$70.00	\$70.00	\$70.00	\$70.00
608.0101	CONCRETE SIDEWALKS AND DRIVEWAYS	CY	725	\$470.00	\$340,750.00	\$420.00	\$304,500.00	\$428.00	\$310,300.00	\$438.00	\$317,550.00	\$520.00	\$377,000.00	\$455.00	\$329,875.00
608.0102	ACCELERATED CURE SIDEWALKS AND DRIVEWAYS	CY	60	\$480.00	\$28,800.00	\$430.00	\$25,800.00	\$410.00	\$24,600.00	\$510.00	\$30,600.00	\$600.00	\$36,000.00	\$850.00	\$51,000.00
608.020102	HOT MIX ASPHALT (HMA) SIDEWALKS, DRIVEWAYS AND BICYCLE PATHS, AND VEGETATION CONTROL STRIPS	TON	18	\$125.00	\$2,250.00	\$225.00	\$4,050.00	\$215.00	\$3,870.00	\$270.00	\$4,860.00	\$200.00	\$3,600.00	\$320.00	\$5,760.00
608.04	BRICK PAVED SIDEWALKD AND DRIVEWAYS(MORTAR SETTING BED)	SY	15	\$57.00	\$855.00	\$200.00	\$3,000.00	\$165.00	\$2,475.00	\$223.30	\$3,349.50	\$250.00	\$3,750.00	\$450.00	\$6,750.00
608.21000003	CAST IRON EMBEDDED DETECTABLE WARNING UNITS	SY	190	\$240.00	\$45,600.00	\$265.00	\$50,350.00	\$230.00	\$43,700.00	\$300.00	\$57,000.00	\$300.00	\$57,000.00	\$400.00	\$76,000.00
608.40010001	REMOVE, STORE AND RESET EXISTING WALK (STONE DUST SETTING BED)	SY	230	\$72.00	\$16,560.00	\$96.00	\$22,080.00	\$185.00	\$42,550.00	\$120.00	\$27,600.00	\$160.00	\$36,800.00	\$300.00	\$69,000.00
608.40020001	REMOVE, STORE AND RESET EXISTING WALK (MORTAR SETTING BED)	SY	175	\$60.00	\$10,500.00	\$135.00	\$23,625.00	\$215.00	\$37,625.00	\$149.00	\$26,075.00	\$220.00	\$38,500.00	\$300.00	\$52,500.00

ITEM NO.	DESCRIPTION	UNIT	QTY	F. RI CONSTRUC		SEAL CONTRACTO		VILL/ CONSTRU	AGER CTION INC.		T PAVING ALS, INC.	PAUL F. VII	ΓALE, INC.		I PAVING & CTION LLC
112101	2230.m non	0	۵.,	PRICE	EXT.	PRICE	EXT.	PRICE	EXT.	PRICE	EXT.	PRICE	EXT.	PRICE	EXT.
609.0201	STONE CURB, GRANITE, (TYPE A)	LF	1750	\$41.00	\$71,750.00	\$66.00	\$115,500.00	\$71.00	\$124,250.00	\$63.00	\$110,250.00	\$52.00	\$91,000.00	\$75.00	\$131,250.00
610.1403	TOPSOIL - LAWNS	CY	250	\$75.00	\$18,750.00	\$64.00	\$16,000.00	\$67.00	\$16,750.00	\$140.00	\$35,000.00	\$90.00	\$22,500.00	\$70.00	\$17,500.00
610.18	SODDING	SY	2760	\$19.00	\$52,440.00	\$10.25	\$28,290.00	\$11.00	\$30,360.00	\$12.00	\$33,120.00	\$9.50	\$26,220.00	\$13.00	\$35,880.00
610.19	WATERING VEGETATION	MGAL	15	\$220.00	\$3,300.00	\$224.00	\$3,360.00	\$240.00	\$3,600.00	\$20.00	\$300.00	\$3.00	\$45.00	\$200.00	\$3,000.00
610.21	MOWING	SY	2760	\$0.30	\$828.00	\$0.73	\$2,014.80	\$0.75	\$2,070.00	\$0.25	\$690.00	\$0.50	\$1,380.00	\$1.00	\$2,760.00
611.0151	PLANTING - MAJOR DECIDUOUS TREES - 2 INCH CALIPER BALL & BURLAP, FIELD POTTED OR FIELD BOXED	EA	17	\$460.00	\$7,820.00	\$440.00	\$7,480.00	\$460.00	\$7,820.00	\$470.00	\$7,990.00	\$500.00	\$8,500.00	\$550.00	\$9,350.00
611.0171	PLANTING - MAJOR DECIDUOUS TREES - 3 INCH CALIPER BALL & BURLAP, FIELD POTTED OR FIELD BOXED	EA	20	\$620.00	\$12,400.00	\$550.00	\$11,000.00	\$580.00	\$11,600.00	\$675.00	\$13,500.00	\$900.00	\$18,000.00	\$800.00	\$16,000.0
611.13	TRANSPLANTING, OVER 3IN - 6 INCH DIAMETER AT BREAST HEIGHT	EA	1	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,050.00	\$1,050.00	\$1,216.00	\$1,216.00	\$1,000.00	\$1,000.00	\$700.00	\$700.0
614.0411	CARE OF TREES UP TO 12 INCHES DIAMETER AT BREAST HEIGHT - PRUNING	EA	5	\$325.00	\$1,625.00	\$400.00	\$2,000.00	\$320.00	\$1,600.00	\$300.00	\$1,500.00	\$300.00	\$1,500.00	\$800.00	\$4,000.0
614.060104	TREE REMOVAL OVER 4 INCHES TO 6 INCHES DIAMETER BREAST HEIGHT - STUMPS GRUBBED	EA	6	\$425.00	\$2,550.00	\$300.00	\$1,800.00	\$215.00	\$1,290.00	\$200.00	\$1,200.00	\$450.00	\$2,700.00	\$800.00	\$4,800.0
614.060204	TREE REMOVAL OVER 6 INCHES TO 12 INCHES DIAMETER BREAST HEIGHT - STUMPS GRUBBED	EA	2	\$500.00	\$1,000.00	\$400.00	\$800.00	\$320.00	\$640.00	\$300.00	\$600.00	\$550.00	\$1,100.00	\$900.00	\$1,800.0
614.060301	TREE REMOVAL OVER 12 INCHES TO 18 INCHES DIAMETER BREAST HEIGHT - STUMPS CUT TO ABOVE GRADE	EA	1	\$700.00	\$700.00	\$800.00	\$800.00	\$645.00	\$645.00	\$600.00	\$600.00	\$800.00	\$800.00	\$900.00	\$900.00
614.060304	TREE REMOVAL OVER 12 INCHES TO 18 INCHES DIAMETER BREAST HIGHT -STUMPS GRUBBED	EACH	1	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$750.00	\$750.00	\$700.00	\$700.00	\$1,400.00	\$1,400.00	\$1,500.00	\$1,500.00
614.060504	TREE REMOVAL OVER 24 INCHES TO 36 INCHES DIAMETER BREAST HEI GHT - STUMPS GRUBBED	EA	4	\$2,500.00	\$10,000.00	\$2,300.00	\$9,200.00	\$1,875.00	\$7,500.00	\$1,750.00	\$7,000.00	\$2,500.00	\$10,000.00	\$2,750.00	\$11,000.0
614.0701	PRE-EXISTING STUMP REMOVAL UP TO 24 INCH DIAMETER AT 6 INCHES ABOVE GRADE	EA	4	\$200.00	\$800.00	\$400.00	\$1,600.00	\$975.00	\$3,900.00	\$300.00	\$1,200.00	\$400.00	\$1,600.00	\$500.00	\$2,000.0
619.01	BASIC WORK ZONE TRAFFIC CONTROL	LS	1	\$157,400.00	\$157,400.00	\$189,787.00	\$189,787.00	\$187,999.40	\$187,999.40	\$374,815.00	\$374,815.00	\$180,000.00	\$180,000.00	\$305,000.00	\$305,000.00
619.04	TYPE III CONSTRUCTION BARRICADE	EACH	174	\$25.00	\$4,350.00	\$80.00	\$13,920.00	\$55.00	\$9,570.00	\$28.74	\$5,000.76	\$75.00	\$13,050.00	\$75.00	\$13,050.00
619.0901	TEMPORARY PAVEMENT MARKINGS STRIPES (TRAFFIC PAINT)	LF	64000	\$0.32	\$20,480.00	\$0.29	\$18,560.00	\$0.30	\$19,200.00	\$0.27	\$17,280.00	\$0.30	\$19,200.00	\$2.50	\$160,000.00
619.0903	TEMPORARY PAVEMENT MARKINGS STRIPES (REMOVABLE TAPE)	LF	140	\$2.00	\$280.00	\$7.80	\$1,092.00	\$8.00	\$1,120.00	\$1.99	\$278.60	\$11.00	\$1,540.00	\$2.50	\$350.00
619.1611	MAINTAIN TRAFFIC SIGNAL EQUIPMENT (REQUIREMENT A)	INTM	56	\$120.00	\$6,720.00	\$57.00	\$3,192.00	\$118.00	\$6,608.00	\$55.00	\$3,080.00	\$150.00	\$8,400.00	\$132.00	\$7,392.00
619.1613	MAINTAIN TRAFFIC SIGNAL EQUIPMENT (REQUIREMENT C)	INTM	7	\$140.00	\$980.00	\$68.00	\$476.00	\$140.00	\$980.00	\$65.00	\$455.00	\$150.00	\$1,050.00	\$156.00	\$1,092.00
619.24	NIGHTTIME OPERATIONS	LS	1	\$13,500.00	\$13,500.00	\$20,000.00	\$20,000.00	\$18,700.00	\$18,700.00	\$18,575.00	\$18,575.00	\$25,000.00	\$25,000.00	\$100,000.00	\$100,000.00
621.03	CLEANING CLOSED DRAINAGE SYSTEMS	LF	15700	\$2.85	\$44,745.00	\$2.25	\$35,325.00	\$3.65	\$57,305.00	\$2.65	\$41,605.00	\$9.00	\$141,300.00	\$7.00	\$109,900.0
621.04	CLEANING DRAINAGE STRUCTURES	EA	175	\$113.00	\$19,775.00	\$98.00	\$17,150.00	\$200.00	\$35,000.00	\$105.00	\$18,375.00	\$150.00	\$26,250.00	\$250.00	\$43,750.0
621.05	CLEAN, GRADE AND SHAPE EXISTING ROADSIDE SECTION	LF	10	\$35.00	\$350.00	\$50.00	\$500.00	\$65.00	\$650.00	\$31.00	\$310.00	\$120.00	\$1,200.00	\$100.00	\$1,000.0
623.12	CRUSHED STONE (IN-PLACE MEASURE)	CY	160	\$30.00	\$4,800.00	\$49.00	\$7,840.00	\$34.00	\$5,440.00	\$60.00	\$9,600.00	\$62.00	\$9,920.00	\$65.00	\$10,400.0
625.01	SURVEY OPERATIONS	LS	1	\$107,000.00	\$107,000.00	\$20,000.00	\$20,000.00	\$46,000.00	\$46,000.00	\$45,000.00	\$45,000.00	\$80,000.00	\$80,000.00	\$25,000.00	\$25,000.0
627.50140008	CUTTING PAVEMENT	LF	2215	\$2.00	\$4,430.00	\$3.50	\$7,752.50	\$5.50	\$12,182.50	\$3.60	\$7,974.00	\$3.50	\$7,752.50	\$5.00	\$11,075.0
633.12	CLEANING, SEALING AND/OR FILLING CRACKS	LS	1	\$5,500.00	\$5,500.00	\$8,000.00	\$8,000.00	\$12,675.00	\$12,675.00	\$17,000.00	\$17,000.00	\$21,000.00	\$21,000.00	\$10,000.00	\$10,000.0
634.06010007	RELOCATE PARKING METERS	EA	26	\$300.00	\$7,800.00	\$430.00	\$11,180.00	\$425.00	\$11,050.00	\$500.00	\$13,000.00	\$450.00	\$11,700.00	\$385.00	\$10,010.0
634.06030007	REMOVE AND STORE PARKING METERS	EA	17	\$70.00	\$1,190.00	\$180.00	\$3,060.00	\$215.00	\$3,655.00	\$180.00	\$3,060.00	\$670.00	\$11,390.00	\$200.00	\$3,400.0
637.12	ENGINEER'S FIELD OFFICE - TYPE 2	MNTH	7	\$2,400.00	\$16,800.00	\$1,200.00	\$8,400.00	\$2,700.00	\$18,900.00	\$2,900.00	\$20,300.00	\$2,500.00	\$17,500.00	\$2,000.00	\$14,000.0
637.34	OFFICE TECHNOLOGY AND SUPPLIES	DC	2000	\$1.00	\$2,000.00	\$1.00	\$2,000.00	\$1.00	\$2,000.00	\$1.00	\$2,000.00	\$1.00	\$2,000.00	\$1.00	\$2,000.00

ITEM NO.	DESCRIPTION	UNIT	QTY	F. RIZ		SEAL CONTRACT		VILLA CONSTRUC			T PAVING ALS, INC.	PAUL F. VIT	ALE, INC.	NARDOZZI CONSTRUC	PAVING & CTION LLC
	2233.MI 1131V	0	٠	PRICE	EXT.	PRICE	EXT.	PRICE	EXT.	PRICE	EXT.	PRICE	EXT.	PRICE	EXT.
645.45020124	NEW YORK STATE (NYS) TRADITIONAL HISTORIC MARKER - NON STANDARD	EACH	1	\$2,000.00	\$2,000.00	\$2,200.00	\$2,200.00	\$2,500.00	\$2,500.00	\$2,091.00	\$2,091.00	\$2,850.00	\$2,850.00	\$3,000.00	\$3,000.00
645.45020224	NEW YORK STATE (NYS) TRADITIONAL HISTORIC MARKER - NON STANDARD	EACH	1	\$2,000.00	\$2,000.00	\$2,200.00	\$2,200.00	\$2,500.00	\$2,500.00	\$2,091.00	\$2,091.00	\$2,850.00	\$2,850.00	\$3,000.00	\$3,000.00
645.45020324	NEW YORK STATE (NYS) TRADITIONAL HISTORIC MARKER - NON STANDARD	EACH	1	\$2,000.00	\$2,000.00	\$2,200.00	\$2,200.00	\$2,500.00	\$2,500.00	\$2,091.00	\$2,091.00	\$2,850.00	\$2,850.00	\$3,000.00	\$3,000.00
645.45020424	NEW YORK STATE (NYS) TRADITIONAL HISTORIC MARKER - NON STANDARD	EACH	1	\$2,000.00	\$2,000.00	\$2,200.00	\$2,200.00	\$2,500.00	\$2,500.00	\$2,091.00	\$2,091.00	\$2,850.00	\$2,850.00	\$3,000.00	\$3,000.00
645.45020524	NEW YORK STATE TRADITIONAL HISTORIC MARKER AS SPECIFIED	EA	1	\$2,000.00	\$2,000.00	\$2,200.00	\$2,200.00	\$2,500.00	\$2,500.00	\$2,091.00	\$2,091.00	\$2,850.00	\$2,850.00	\$3,000.00	\$3,000.00
645.5101	GROUND-MOUNTED SIGN PANELS WITHOUT Z-BARS	SF	39	\$27.00	\$1,053.00	\$26.00	\$1,014.00	\$24.00	\$936.00	\$24.75	\$965.25	\$22.00	\$858.00	\$30.00	\$1,170.00
645.5102	GROUND-MOUNTED SIGN PANELS LESS THAN OR EQUAL TO 30 SF, WITH Z-BARS	SF	679	\$31.00	\$21,049.00	\$24.00	\$16,296.00	\$30.00	\$20,370.00	\$23.00	\$15,617.00	\$28.00	\$19,012.00	\$29.25	\$19,860.75
645.5202	GROUND-MOUNTED SIGN PANELS LESS THAN OR EQUAL TO 30 SF, WITH Z-BARS, HIGH- IVISIBILITY SHEETING	SF	820	\$30.00	\$24,600.00	\$25.00	\$20,500.00	\$33.00	\$27,060.00	\$23.75	\$19,475.00	\$31.00	\$25,420.00	\$29.00	\$23,780.00
645.81	TYPE A SIGN POSTS	EA	203	\$115.00	\$23,345.00	\$125.00	\$25,375.00	\$160.00	\$32,480.00	\$121.00	\$24,563.00	\$150.00	\$30,450.00	\$150.00	\$30,450.00
645.81020003	RETROREFLECTIVE SIGN POST STRIP	EA	62	\$52.00	\$3,224.00	\$57.00	\$3,534.00	\$50.00	\$3,100.00	\$55.00	\$3,410.00	\$45.00	\$2,790.00	\$75.00	\$4,650.00
645.8107	CONCRETE FOOTING FOR TYPE A, HIGH-CAPACITY TYPE A OR BREAKAWAY WOODEN SIGN POSTS WITH STEEL TUBE INSERTS	EACH	35	\$200.00	\$7,000.00	\$460.00	\$16,100.00	\$190.00	\$6,650.00	\$540.00	\$18,900.00	\$175.00	\$6,125.00	\$420.00	\$14,700.00
645.85	POLE MOUNTED SIGN SUPPORT SYSTEM (BAND MOUNTED)	EACH	28	\$260.00	\$7,280.00	\$160.00	\$4,480.00	\$160.00	\$4,480.00	\$155.00	\$4,340.00	\$150.00	\$4,200.00	\$210.00	\$5,880.00
646.21	REFERENCE MARKER PANEL	EA	1	\$28.00	\$28.00	\$25.00	\$25.00	\$10.00	\$10.00	\$24.00	\$24.00	\$10.00	\$10.00	\$50.00	\$50.00
647.31	RELOCATE SIGN PANEL, SIGN PANEL ASSEMBLY SIZE I (UNDER 30 SQUARE FEET)	EA	29	\$163.00	\$4,727.00	\$78.00	\$2,262.00	\$160.00	\$4,640.00	\$75.00	\$2,175.00	\$150.00	\$4,350.00	\$90.00	\$2,610.00
647.41	REMOVE AND STORE SIGN PANEL, SIGN PANEL ASSEMBLY SIZE I (UNDER 30 SQUARE FEET)	EA	116	\$35.00	\$4,060.00	\$28.00	\$3,248.00	\$80.00	\$9,280.00	\$27.00	\$3,132.00	\$75.00	\$8,700.00	\$40.00	\$4,640.00
647.61	REMOVE AND DISPOSE SIGNS, GROUND MOUNTED TYPE A SIGN AND FOUNDATIONS SIZE I (UNDER 30 SF)	EACH	29	\$50.00	\$1,450.00	\$16.00	\$464.00	\$22.00	\$638.00	\$15.00	\$435.00	\$20.00	\$580.00	\$30.00	\$870.00
655.0704	CAST FRAME F1, UNMOUNTABLE CURB BOX CU1 & RETICULINE GRATE G1	EACH	7	\$1,550.00	\$10,850.00	\$900.00	\$6,300.00	\$800.00	\$5,600.00	\$1,035.00	\$7,245.00	\$1,280.00	\$8,960.00	\$1,500.00	\$10,500.00
655.0705	CAST FRAME F2, UNMOUNTABLE CURB BOX CU2 & RETICULINE GRATE G2	EA	18	\$1,800.00	\$32,400.00	\$1,025.00	\$18,450.00	\$1,040.00	\$18,720.00	\$1,350.00	\$24,300.00	\$1,500.00	\$27,000.00	\$1,550.00	\$27,900.00
655.0804	CAST FRAME F1, UNMOUNTABLE CURB BOX CU1 & PARALLEL BAR GRATE 6 PCB	EACH	12	\$1,600.00	\$19,200.00	\$1,025.00	\$12,300.00	\$850.00	\$10,200.00	\$1,080.00	\$12,960.00	\$1,200.00	\$14,400.00	\$2,500.00	\$30,000.00
655.0805	CAST FRAME F2, UNMOUNTABLE CURB BOX CU2 & PARALLEL BAR GRATE 7 PCB	EACH	4	\$1,850.00	\$7,400.00	\$1,200.00	\$4,800.00	\$1,100.00	\$4,400.00	\$1,840.00	\$7,360.00	\$1,600.00	\$6,400.00	\$2,800.00	\$11,200.00
655.0901	PARALLEL BAR FRAME 10 PCB & PARALLEL BAR GRATE 10 PCB	EACH	5	\$1,700.00	\$8,500.00	\$700.00	\$3,500.00	\$520.00	\$2,600.00	\$1,190.00	\$5,950.00	\$550.00	\$2,750.00	\$850.00	\$4,250.00
655.0902	PARALLEL BAR FRAME 11 PCB & PARALLEL BAR GRATE 11 PCB	EACH	5	\$1,440.00	\$7,200.00	\$850.00	\$4,250.00	\$700.00	\$3,500.00	\$1,385.00	\$6,925.00	\$830.00	\$4,150.00	\$1,800.00	\$9,000.00
655.1202	MANHOLE FRAME AND COVER	EACH	28	\$1,125.00	\$31,500.00	\$400.00	\$11,200.00	\$380.00	\$10,640.00	\$554.00	\$15,512.00	\$800.00	\$22,400.00	\$2,100.00	\$58,800.00
655.13000015	ASPHALT PAVEMENT SUPPORTED MANHOLE FRAME AND APPROVED COVER	EA	72	\$1,570.00	\$113,040.00	\$1,250.00	\$90,000.00	\$1,120.00	\$80,640.00	\$1,400.00	\$100,800.00	\$1,450.00	\$104,400.00	\$1,000.00	\$72,000.00
657.030001CY	PAINT EXISTING ALUMINUM LIGHT POLES	EACH	120	\$504.00	\$60,480.00	\$485.00	\$58,200.00	\$505.00	\$60,600.00	\$470.00	\$56,400.00	\$800.00	\$96,000.00	\$564.00	\$67,680.00
660.93000008	FURNISH AND INSTALL SANITARY SEWER LATERALS	EA	5	\$1,800.00	\$9,000.00	\$3,000.00	\$15,000.00	\$1,610.00	\$8,050.00	\$1,500.00	\$7,500.00	\$2,500.00	\$12,500.00	\$2,500.00	\$12,500.00
663.0104	DUCTILE IRON CEMENT LINED WATER PIPE, 4"	LF	19	\$170.00	\$3,230.00	\$300.00	\$5,700.00	\$670.00	\$12,730.00	\$125.00	\$2,375.00	\$195.00	\$3,705.00	\$100.00	\$1,900.00
663.0106	DUCTILE IRON CEMENT LINED WATER PIPE, 6"	LF	69	\$85.00	\$5,865.00	\$135.00	\$9,315.00	\$335.00	\$23,115.00	\$110.00	\$7,590.00	\$140.00	\$9,660.00	\$115.00	\$7,935.00
663.0108	DUCTILE IRON CEMENT LINED WATER PIPE, 8"	LF	200	\$88.00	\$17,600.00	\$140.00	\$28,000.00	\$160.00	\$32,000.00	\$105.00	\$21,000.00	\$98.00	\$19,600.00	\$95.00	\$19,000.00
663.0112	DUCTILE IRON CEMENT LINED WATER PIPE, 12"	LF	25	\$122.00	\$3,050.00	\$220.00	\$5,500.00	\$220.00	\$5,500.00	\$155.00	\$3,875.00	\$200.00	\$5,000.00	\$200.00	\$5,000.00
663.1004	RESILIENT WEDGE VALVE & VALVE BOX, 4"	EACH	4	\$650.00	\$2,600.00	\$1,000.00	\$4,000.00	\$565.00	\$2,260.00	\$1,500.00	\$6,000.00	\$2,200.00	\$8,800.00	\$1,200.00	\$4,800.00
663.1006	RESILIENT WEDGE VALVE & VALVE BOX, 6"	EACH	7	\$800.00	\$5,600.00	\$1,800.00	\$12,600.00	\$700.00	\$4,900.00	\$2,500.00	\$17,500.00	\$2,100.00	\$14,700.00	\$1,800.00	\$12,600.00
663.1008	RESILIENT WEDGE VALVE & VALVE BOX, 8"	EACH	2	\$1,200.00	\$2,400.00	\$1,900.00	\$3,800.00	\$1,100.00	\$2,200.00	\$3,000.00	\$6,000.00	\$2,900.00	\$5,800.00	\$2,250.00	\$4,500.00

ITEM NO.	DESCRIPTION	UNIT	QTY	F. RI CONSTRUC			LAND ORS CORP.	VILLA CONSTRUC			T PAVING ALS, INC.	PAUL F. VI	TALE, INC.	NARDOZZI CONSTRUC	
				PRICE	EXT.	PRICE	EXT.	PRICE	EXT.	PRICE	EXT.	PRICE	EXT.	PRICE	EXT.
663.1012	RESILIENT WEDGE VALVE & VALVE BOX, 12"	EACH	1	\$2,000.00	\$2,000.00	\$4,400.00	\$4,400.00	\$2,100.00	\$2,100.00	\$5,000.00	\$5,000.00	\$4,000.00	\$4,000.00	\$3,100.00	\$3,100.00
663.160606	TAPPING SLEEVE, VALVE & VALVE BOX ASSEMBLY, 6" X 6"	EACH	1	\$3,700.00	\$3,700.00	\$4,100.00	\$4,100.00	\$4,200.00	\$4,200.00	\$5,500.00	\$5,500.00	\$4,400.00	\$4,400.00	\$3,000.00	\$3,000.00
663.160804	TAPPING SLEEVE, VALVE & VALVE BOX ASSEMBLY, 8" X 4"	EACH	1	\$3,500.00	\$3,500.00	\$3,800.00	\$3,800.00	\$3,750.00	\$3,750.00	\$5,500.00	\$5,500.00	\$4,100.00	\$4,100.00	\$3,600.00	\$3,600.00
663.160808	TAPPING SLEEVE, VALVE & VALVE BOX ASSEMBLY, 8" X 8"	EACH	2	\$4,300.00	\$8,600.00	\$4,800.00	\$9,600.00	\$4,900.00	\$9,800.00	\$6,500.00	\$13,000.00	\$4,800.00	\$9,600.00	\$3,850.00	\$7,700.00
663.161208	TAPPING SLEEVE, VALVE & VALVE BOX ASSEMBLY, 12" X 8"	EACH	1	\$4,500.00	\$4,500.00	\$4,900.00	\$4,900.00	\$5,100.00	\$5,100.00	\$7,500.00	\$7,500.00	\$6,900.00	\$6,900.00	\$4,100.00	\$4,100.00
663.161212	TAPPING SLEEVE, VALVE & VALVE BOX ASSEMBLY, 12" X 12"	EACH	1	\$6,400.00	\$6,400.00	\$7,800.00	\$7,800.00	\$8,800.00	\$8,800.00	\$9,000.00	\$9,000.00	\$9,200.00	\$9,200.00	\$5,000.00	\$5,000.00
663.2001	IRON WATER MAIN FITTINGS (3 " - 8 ")	LB	3305	\$0.60	\$1,983.00	\$4.50	\$14,872.50	\$1.50	\$4,957.50	\$5.00	\$16,525.00	\$13.00	\$42,965.00	\$4.00	\$13,220.00
663.2002	IRON WATER MAIN FITTINGS (10" - 16")	LB	790	\$0.60	\$474.00	\$4.00	\$3,160.00	\$1.75	\$1,382.50	\$7.00	\$5,530.00	\$11.00	\$8,690.00	\$4.50	\$3,555.00
663.2104	WEDGE TYPE MECHANICAL RESTRAINT GLANDS, 4"	EACH	8	\$54.00	\$432.00	\$40.00	\$320.00	\$32.00	\$256.00	\$100.00	\$800.00	\$32.00	\$256.00	\$160.00	\$1,280.00
663.2106	WEDGE TYPE MECHANICAL RESTRAINT GLANDS, 6"	EACH	4	\$68.00	\$272.00	\$50.00	\$200.00	\$37.00	\$148.00	\$125.00	\$500.00	\$40.00	\$160.00	\$175.00	\$700.00
663.2108	WEDGE TYPE MECHANICAL RESTRAINT GLANDS, 8"	EACH	13	\$85.00	\$1,105.00	\$70.00	\$910.00	\$51.00	\$663.00	\$150.00	\$1,950.00	\$54.00	\$702.00	\$200.00	\$2,600.00
663.2112	WEDGE TYPE MECHANICAL RESTRAINT GLANDS, 12"	EACH	5	\$130.00	\$650.00	\$125.00	\$625.00	\$120.00	\$600.00	\$200.00	\$1,000.00	\$140.00	\$700.00	\$225.00	\$1,125.00
663.33	ADJUST EXISTING VALVE BOX ELEVATION	EACH	130	\$65.00	\$8,450.00	\$205.00	\$26,650.00	\$38.00	\$4,940.00	\$285.00	\$37,050.00	\$330.00	\$42,900.00	\$300.00	\$39,000.00
663.40	DISCONNECT AND CAP EXISTING WATER MAIN	EACH	13	\$1,700.00	\$22,100.00	\$800.00	\$10,400.00	\$1,650.00	\$21,450.00	\$3,000.00	\$39,000.00	\$1,450.00	\$18,850.00	\$3,000.00	\$39,000.00
663.42	REMOVE AND DISPOSE OF EXISTING WATER VALVE & VALVE BOX	EACH	13	\$560.00	\$7,280.00	\$250.00	\$3,250.00	\$585.00	\$7,605.00	\$1,000.00	\$13,000.00	\$1,300.00	\$16,900.00	\$450.00	\$5,850.00
680.5001	POLE EXCAVATION AND CONCRETE FOUNDATION	CY	14	\$1,150.00	\$16,100.00	\$1,275.00	\$17,850.00	\$1,150.00	\$16,100.00	\$1,225.00	\$17,150.00	\$1,168.00	\$16,352.00	\$1,290.00	\$18,060.00
680.510501	PULLBOX-RECTANGULAR, 26 X 18 INCH, REINFORCED CONCRETE	EACH	4	\$1,400.00	\$5,600.00	\$1,240.00	\$4,960.00	\$1,340.00	\$5,360.00	\$1,185.00	\$4,740.00	\$1,438.00	\$5,752.00	\$1,500.00	\$6,000.00
680.520106	CONDUIT, METAL STEEL, ZINC COATED, 2"	LF	275	\$10.00	\$2,750.00	\$19.50	\$5,362.50	\$9.50	\$2,612.50	\$18.75	\$5,156.25	\$11.00	\$3,025.00	\$10.70	\$2,942.50
680.520108	CONDUIT, METAL STEEL, ZINC CAOTED, 3"	LF	340	\$16.00	\$5,440.00	\$22.00	\$7,480.00	\$16.00	\$5,440.00	\$21.25	\$7,225.00	\$25.00	\$8,500.00	\$18.20	\$6,188.00
680.53	CONDUIT JACKING OR BORING	LF	320	\$41.00	\$13,120.00	\$41.00	\$13,120.00	\$41.00	\$13,120.00	\$39.50	\$12,640.00	\$50.00	\$16,000.00	\$46.20	\$14,784.00
680.53080305	CONDUIT, FLEXIBLE, LIQUID TIGHT NON METALLIC, 1"	LF	360	\$6.00	\$2,160.00	\$12.50	\$4,500.00	\$6.00	\$2,160.00	\$11.95	\$4,302.00	\$8.00	\$2,880.00	\$8.65	\$3,114.00
680.54	INDUCTANCE LOOP INSTALLATION	LF	3960	\$7.80	\$30,888.00	\$7.50	\$29,700.00	\$8.00	\$31,680.00	\$7.25	\$28,710.00	\$8.00	\$31,680.00	\$11.00	\$43,560.00
680.621840	TRAFFIC SIGNAL POLE, MAST ARM, 18 FEET MOUNTING HEIGHT, 40 FEET ARM LENGTH	EACH	1	\$6,700.00	\$6,700.00	\$6,700.00	\$6,700.00	\$6,675.00	\$6,675.00	\$6,475.00	\$6,475.00	\$6,615.00	\$6,615.00	\$7,500.00	\$7,500.00
680.621940	TRAFFIC SIGNAL POLE, MAST ARM, 19 FEET MOUNTING HEIGHT, 40 FEET ARM LENGTH	EACH	1	\$6,800.00	\$6,800.00	\$6,500.00	\$6,500.00	\$6,780.00	\$6,780.00	\$6,260.00	\$6,260.00	\$6,450.00	\$6,450.00	\$7,650.00	\$7,650.00
680.6708	TRAFFIC SIGNAL POLE POST TOP MOUNT, 8 FEET MOUNTING HEIGHT	EACH	5	\$900.00	\$4,500.00	\$825.00	\$4,125.00	\$865.00	\$4,325.00	\$795.00	\$3,975.00	\$950.00	\$4,750.00	\$975.00	\$4,875.00
680.700603	RISER ASSEMBLY, 1" DIAMETER	EACH	1	\$500.00	\$500.00	\$410.00	\$410.00	\$495.00	\$495.00	\$395.00	\$395.00	\$923.00	\$923.00	\$550.00	\$550.00
680.72	INDUCTANCE LOOP WIRE	LF	12590	\$0.70	\$8,813.00	\$0.31	\$3,902.90	\$0.65	\$8,183.50	\$0.30	\$3,777.00	\$0.15	\$1,888.50	\$0.75	\$9,442.50
680.730714	SIGNAL CABLE 7 CONDUCTORS, 14 AWG	LF	9690	\$4.40	\$42,636.00	\$2.12	\$20,542.80	\$4.40	\$42,636.00	\$2.05	\$19,864.50	\$4.60	\$44,574.00	\$5.00	\$48,450.00
680.77000105	MODIFY TRAFFIC SIGNAL INSTALLATION, LOCATION 1	ELOC	1	\$1,800.00	\$1,800.00	\$2,250.00	\$2,250.00	\$1,815.00	\$1,815.00	\$2,175.00	\$2,175.00	\$960.00	\$960.00	\$1,900.00	\$1,900.00
680.77000205	MODIFY TRAFFIC SIGNAL INSTALLATION, LOCATION 2	ELOC	1	\$1,600.00	\$1,600.00	\$2,300.00	\$2,300.00	\$1,560.00	\$1,560.00	\$2,210.00	\$2,210.00	\$1,690.00	\$1,690.00	\$1,750.00	\$1,750.00
680.77000305	MODIFY TRAFFIC SIGNAL INSTALLATION, LOCATION 3	ELOC	1	\$2,100.00	\$2,100.00	\$2,730.00	\$2,730.00	\$2,040.00	\$2,040.00	\$2,625.00	\$2,625.00	\$3,530.00	\$3,530.00	\$2,400.00	\$2,400.00
680.77000405	MODIFY TRAFFIC SIGNAL INSTALLATION	ELOC	1	\$800.00	\$800.00	\$1,500.00	\$1,500.00	\$725.00	\$725.00	\$1,445.00	\$1,445.00	\$3,320.00	\$3,320.00	\$900.00	\$900.00
680.77000505	MODIFY TRAFFIC SIGNAL INSTALLATION	ELOC	1	\$800.00	\$800.00	\$1,780.00	\$1,780.00	\$740.00	\$740.00	\$1,710.00	\$1,710.00	\$1,690.00	\$1,690.00	\$900.00	\$900.00

ITEM NO.	DESCRIPTION	UNIT	QTY	F. RI CONSTRUC		SEAL CONTRACTO		VILLA CONSTRU			F PAVING ALS, INC.	PAUL F. VIT	ALE, INC.	NARDOZZI CONSTRU	PAVING & CTION LLC
	2200 Mil 110 M	0		PRICE	EXT.	PRICE	EXT.	PRICE	EXT.	PRICE	EXT.	PRICE	EXT.	PRICE	EXT.
680.77000605	MODIFY TRAFFIC SIGNAL INSTALLATION	ELOC	1	\$500.00	\$500.00	\$800.00	\$800.00	\$480.00	\$480.00	\$765.00	\$765.00	\$1,730.00	\$1,730.00	\$600.00	\$600.00
680.77000705	MODIFY TRAFFIC SIGNAL INSTALLATION	ELOC	1	\$500.00	\$500.00	\$1,450.00	\$1,450.00	\$480.00	\$480.00	\$1,395.00	\$1,395.00	\$3,190.00	\$3,190.00	\$600.00	\$600.00
680.79000105	REMOVE TRAFFIC SIGNAL INSTALLATION LOCATION 1	ELOC	1	\$500.00	\$500.00	\$340.00	\$340.00	\$480.00	\$480.00	\$325.00	\$325.00	\$84.00	\$84.00	\$600.00	\$600.00
680.79000205	REMOVE TRAFFIC SIGNAL INSTALLATION LOCATION 2	ELOC	1	\$500.00	\$500.00	\$470.00	\$470.00	\$480.00	\$480.00	\$450.00	\$450.00	\$645.00	\$645.00	\$600.00	\$600.00
680.79000305	REMOVE TRAFFIC SIGNAL INSTALLATION LOCATION 3	ELOC	1	\$300.00	\$300.00	\$470.00	\$470.00	\$225.00	\$225.00	\$450.00	\$450.00	\$645.00	\$645.00	\$350.00	\$350.00
680.79000405	REMOVE TRAFFIC SIGNAL INSTALLATION LOCATION 4	ELOC	1	\$225.00	\$225.00	\$600.00	\$600.00	\$225.00	\$225.00	\$575.00	\$575.00	\$750.00	\$750.00	\$350.00	\$350.00
680.79000505	REMOVE TRAFFIC SIGNAL INSTALLATION LOCATION 5	EA	1	\$225.00	\$225.00	\$340.00	\$340.00	\$225.00	\$225.00	\$325.00	\$325.00	\$540.00	\$540.00	\$350.00	\$350.00
680.79000605	REMOVE TRAFFIC SIGNAL INSTALLATION LOCATION 6	ELOC	1	\$225.00	\$225.00	\$340.00	\$340.00	\$225.00	\$225.00	\$325.00	\$325.00	\$540.00	\$540.00	\$350.00	\$350.00
680.79000705	REMOVE TRAFFIC SIGNAL INSTALLATION LOCATION 7	ELOC	1	\$225.00	\$225.00	\$600.00	\$600.00	\$225.00	\$225.00	\$575.00	\$575.00	\$750.00	\$750.00	\$350.00	\$350.00
680.79000805	REMOVE TRAFFIC SIGNAL INSTALLATION LOCATION 8	ELOC	1	\$500.00	\$500.00	\$3,200.00	\$3,200.00	\$480.00	\$480.00	\$3,100.00	\$3,100.00	\$3,370.00	\$3,370.00	\$600.00	\$600.00
680.79000905	REMOVE TRAFFIC SIGNAL INSTALLATION LOCATION 9	ELOC	1	\$500.00	\$500.00	\$600.00	\$600.00	\$480.00	\$480.00	\$575.00	\$575.00	\$750.00	\$750.00	\$600.00	\$600.00
680.803201CY	FURNISH AND INSTALL MICROCOMPUTER AND CABINET	EA	1	\$15,300.00	\$15,300.00	\$17,400.00	\$17,400.00	\$15,300.00	\$15,300.00	\$16,750.00	\$16,750.00	\$15,950.00	\$15,950.00	\$17,500.00	\$17,500.00
680.803202CY	FURNISH AND INSTALL MICROCOMPUTER	EA	7	\$5,700.00	\$39,900.00	\$5,900.00	\$41,300.00	\$5,750.00	\$40,250.00	\$5,730.00	\$40,110.00	\$5,430.00	\$38,010.00	\$6,500.00	\$45,500.00
680.810101	TRAFFIC SIGNAL MODULE - 12 INCH, RED BALL, LED	EACH	8	\$75.00	\$600.00	\$68.00	\$544.00	\$72.00	\$576.00	\$65.00	\$520.00	\$56.20	\$449.60	\$81.00	\$648.00
680.810103	TRAFFIC SIGNAL MODULE - 12 INCH, YELLOW BALL, LED	EACH	8	\$80.00	\$640.00	\$78.00	\$624.00	\$78.00	\$624.00	\$75.00	\$600.00	\$63.00	\$504.00	\$90.00	\$720.00
680.810105	TRAFFIC SIGNAL MODULE - 12 INCH, GREEN BALL, LED	EACH	8	\$80.00	\$640.00	\$78.00	\$624.00	\$77.00	\$616.00	\$75.00	\$600.00	\$61.00	\$488.00	\$88.00	\$704.00
680.810601	TRAFFIC SIGNAL SECTION - POLYCARBONATE, TYPE I, 12 INCH	EACH	24	\$180.00	\$4,320.00	\$150.00	\$3,600.00	\$182.00	\$4,368.00	\$145.00	\$3,480.00	\$213.00	\$5,112.00	\$250.00	\$6,000.00
680.8112	TRAFFIC SIGNAL BRACKET ASSEMBLY - 2 WAY	EACH	4	\$420.00	\$1,680.00	\$440.00	\$1,760.00	\$420.00	\$1,680.00	\$425.00	\$1,700.00	\$364.00	\$1,456.00	\$500.00	\$2,000.00
680.813105	PEDESTRIAN SIGNAL MODULE - 12 INCH BI-MODAL, HAND/MAN SYMBOLS LED	EACH	16	\$140.00	\$2,240.00	\$165.00	\$2,640.00	\$140.00	\$2,240.00	\$160.00	\$2,560.00	\$124.00	\$1,984.00	\$225.00	\$3,600.00
680.813106	PEDESTRIAN SIGNAL SECTION - POLYCARBONATE, TYPE I, 12 INCH	EACH	34	\$325.00	\$11,050.00	\$212.00	\$7,208.00	\$325.00	\$11,050.00	\$205.00	\$6,970.00	\$250.00	\$8,500.00	\$400.00	\$13,600.00
680.81330010	AUDIBLE PEDESTRIAN SIGNAL	EACH	44	\$950.00	\$41,800.00	\$850.00	\$37,400.00	\$955.00	\$42,020.00	\$820.00	\$36,080.00	\$1,090.00	\$47,960.00	\$1,100.00	\$48,400.00
680.81340010	AUDIBLE PEDESTRIAN SIGNAL - WITH POST	EA	12	\$1,800.00	\$21,600.00	\$1,735.00	\$20,820.00	\$1,760.00	\$21,120.00	\$1,670.00	\$20,040.00	\$1,810.00	\$21,720.00	\$1,800.00	\$21,600.00
680.8141	PEDESTRIAN SIGNAL BRACKET MOUNT ASSEMBLY	EACH	6	\$250.00	\$1,500.00	\$245.00	\$1,470.00	\$245.00	\$1,470.00	\$235.00	\$1,410.00	\$300.00	\$1,800.00	\$300.00	\$1,800.00
680.8142	PEDESTRIAN SIGNAL POST TOP MOUNT ASSEMBLY	EACH	5	\$250.00	\$1,250.00	\$285.00	\$1,425.00	\$236.00	\$1,180.00	\$275.00	\$1,375.00	\$261.00	\$1,305.00	\$300.00	\$1,500.00
680.81500010	PEDESTRIAN COUNT-DOWN TIMER MODULE	EACH	25	\$150.00	\$3,750.00	\$165.00	\$4,125.00	\$147.00	\$3,675.00	\$160.00	\$4,000.00	\$132.00	\$3,300.00	\$165.00	\$4,125.00
680.8207	OVERHEAD SIGN ASSEMBLY, TYPE G	EACH	1	\$740.00	\$740.00	\$550.00	\$550.00	\$740.00	\$740.00	\$525.00	\$525.00	\$610.00	\$610.00	\$850.00	\$850.00
680.82210215	FLASHING BEACON ASSEMBLY (SOLAR)	EA	2	\$6,500.00	\$13,000.00	\$6,400.00	\$12,800.00	\$6,475.00	\$12,950.00	\$6,150.00	\$12,300.00	\$8,990.00	\$17,980.00	\$8,000.00	\$16,000.00
680.82240410	BI DIRECTION RECTANGULAR RAPID FLASHING BEACON (RRFB) SOLAR POWERED WITH	EACH	4	\$8,000.00	\$32,000.00	\$6,000.00	\$24,000.00	\$8,200.00	\$32,800.00	\$5,785.00	\$23,140.00	\$8,300.00	\$33,200.00	\$9,200.00	\$36,800.00
680.82300010	BREAKAWAY TRANSFORMER BASE ADA COMPLIANT PEDESTRIAN PUSHBUTTON WITH LATCHING LED INDICATION	EA	4	\$425.00	\$1,700.00	\$425.00	\$1,700.00	\$425.00	\$1,700.00	\$410.00	\$1,640.00	\$492.00	\$1,968.00	\$510.00	\$2,040.00
680.90920001	ELECTRIC METER SOCKET, 100 AMPERES, SINGLE PHASE, 120 VOLT FOR TRAFFIC SIGNAL	EA	1	\$850.00	\$850.00	\$640.00	\$640.00	\$850.00	\$850.00	\$620.00	\$620.00	\$233.00	\$233.00	\$1,200.00	\$1,200.00
680.94997008	INSTALLATIONS FURNISH AND INSTALL ELECTRICAL DISCONNECT GENERATOR TRANSFER SWITCH	EA	1	\$850.00	\$850.00	\$840.00	\$840.00	\$850.00	\$850.00	\$810.00	\$810.00	\$264.00	\$264.00	\$1,200.00	\$1,200.00
680.95020615	SERVICE CABLE 2 CONDUCTOR, NO. 06 AWG	EA	50	\$2.00	\$100.00	\$4.00	\$200.00	\$2.00	\$100.00	\$3.75	\$187.50	\$2.50	\$125.00	\$3.00	\$150.00
685.11	WHITE EPOXY REFLECTORIZED PAVEMENT STRIPES - 20 MILS	LF	76400	\$0.75	\$57,300.00	\$1.02	\$77,928.00	\$1.05	\$80,220.00	\$0.59	\$45,076.00	\$1.00	\$76,400.00	\$3.00	\$229,200.00
															<u>. </u>

ITEM NO.	DESCRIPTION	UNIT	QTY	F. R CONSTRUC	ZZO CTION, INC.	<u> </u>	LAND FORS CORP.	VILL/ CONSTRU	_	BARRET MATERI	Γ PAVING ALS, INC.	PAUL F. VI	TALE, INC.	NARDOZZI CONSTRU	PAVING & CTION LLC
TILWING.	DESCRIPTION	ONII	Q I I	PRICE	EXT.	PRICE	EXT.	PRICE	EXT.	PRICE	EXT.	PRICE	EXT.	PRICE	EXT.
685.12	YELLOW EPOXY REFLECTORIZED PAVEMENT STRIPES - 20 MILS	LF	32100	\$0.75	\$24,075.00	\$0.71	\$22,791.00	\$0.73	\$23,433.00	\$0.59	\$18,939.00	\$0.70	\$22,470.00	\$3.00	\$96,300.00
685.13	WHITE EPOXY REFLECTORIZED PAVEMENT LETTERS - 20 MILS	EACH	84	\$60.00	\$5,040.00	\$58.00	\$4,872.00	\$60.00	\$5,040.00	\$50.00	\$4,200.00	\$56.00	\$4,704.00	\$3.00	\$252.00
685.14	WHITE EPOXY REFLECTORIZED PAVEMENT SYMBOLS - 20 MILS	EACH	165	\$160.00	\$26,400.00	\$182.00	\$30,030.00	\$190.00	\$31,350.00	\$150.00	\$24,750.00	\$175.00	\$28,875.00	\$3.00	\$495.00
697.03	FIELD CHANGE PAYMENT	DC	177000	\$1.00	\$177,000.00	\$1.00	\$177,000.00	\$1.00	\$177,000.00	\$1.00	\$177,000.00	\$1.00	\$177,000.00	\$1.00	\$177,000.00
698.04	ASPHALT PRICE ADJUSTMENT	DC	14400	\$1.00	\$14,400.00	\$1.00	\$14,400.00	\$1.00	\$14,400.00	\$1.00	\$14,400.00	\$1.00	\$14,400.00	\$1.00	\$14,400.00
698.05	FUEL PRICE ADJUSTMENT	DC	3200	\$1.00	\$3,200.00	\$1.00	\$3,200.00	\$1.00	\$3,200.00	\$1.00	\$3,200.00	\$1.00	\$3,200.00	\$1.00	\$3,200.00
698.06	STEEL/IRON PRICE ADJUSTMENT	DC	100	\$1.00	\$100.00	\$1.00	\$100.00	\$1.00	\$100.00	\$1.00	\$100.00	\$1.00	\$100.00	\$1.00	\$100.00
699.040001	MOBILIZATION	LS	1	\$158,000.00	\$158,000.00	\$160,000.00	\$160,000.00	\$170,000.00	\$170,000.00	\$186,000.00	\$186,000.00	\$200,000.00	\$200,000.00	\$208,000.00	\$208,000.00
	'	BID TO	TALS	\$4,148,679.00		\$4,180	,000.10	\$4,438,879.00		\$4,856,346.32		\$5,190,013.60		\$5,478,700.75	
		•		LOW B	IDDER			•							

I HEREBY CERTIFY THAT THIS CONTRACT WAS BID IN ACCORDANCE WITH STANDARD COMPETITIVE BIDDING PROCEDURES AND REQUIREMENTS AND THIS TABULATION INCLUDES ALL BIDS RECEIVED AT A PUBLIC BID OPENING HELD AT THE CITY OF AUBURN, CITY COUNCIL CHAMBERS, AUBURN, NY FOR A CONTRACT IN THE CITY OF AUBURN, KNOWN AS GENESEE ST PAVING - BLUEFIELD ROAD TO NORTH/SOUTH STREET.

Jeffrey M. Reina, P.E.

12/8/2017

DATE

- DENOTES BIDDERS ERROR

C&S ENGINEERS, INC.